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Link Analysis - Exercises

Calculate the Page Rank of this graph with 70%
chance of teleporting




Link Analysis - Exercises

Calculate the Page Rank of this graph with 70%
chance of teleporting

=» P

P =
0.1000 0.3000 0.1000 0.1000 0.1000 0.1000 0.1000 0.1000
0.1000 0.1000 0.3000 0.1000 0.1000 0.1000 0.1000 0.1000
0.1000 0.1000 0.1000 0.3000 0.1000 0.1000 0.1000 0.1000
0.1000 0.1000 0.1000 0.1000 0.3000 0.1000 0.1000 0.1000
0.1000 0.1000 0.1000 0.1000 0.1000 0.3000 0.1000 0.1000
0.1000 0.1000 0.1000 0.1000 0.1000 0.1000 0.3000 0.1000
0.1000 0.1000 0.1000 0.1000 0.1000 0.1000 0.1000 0.3000
0.3000 0.1000 0.1000 0.1000 0.1000 0.1000 0.1000 0.1000

> X¥P

0.1000 0.3000 0.1000 0.1000 0.1000 0.1000 0.1000 0.1000
>> XYPYPYP¥PHPHpHpP¥pPHPwP
ans =

0.1250 0.1250 0.1250 0.1250 0.1250 0.1250 0.1250 0.1250




Link Analysis - Exercises

Calculate the Page Rank of this graph with no
teleporting, just deadend handling




Link Analysis - Exerci

Calculate the P
teleporting, jus
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ans =

== X¥P¥P
ans =

0
=> X¥P¥P¥P
ans =

0

>3 X¥PHPWPHPH PP DK PHPUPUPHDPH DU PR DU DU PHPUPHD
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Link Analysis - Exercises

Calculate the Page Rank of this graph with no
teleporting, just deadened handling
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Link Analysis - Exercises

Calculate the | ..
teleporting, ju
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Link Analysis - Exercises

Draw a graph with 10 nodes

1) such that 1 node clearly has the highest PageRank




LOAD SAVE TELEPORT_PERCENT  LOAD_SEQUENCE
ITERATE_PAGERANK




Link Analysis - Exercises

Draw a graph with 10 nodes

2) such that 4 nodes have very high and equal PageRank




LOAD SAVE TELEPORT_PERCENT  LOAD_SEQUENCE
ITERATE_PAGERANK




Link Analysis - Exercises

Draw a graph with 10 nodes

3) such that no node has the same PageRank




LOAD SAVE TELEPORT_PERCENT  LOAD_SEQUENCE
ITERATE_PAGERANK




Link Analysis - Exercises

How could PageRank be calculated in Hadoop?




Link Analysis - Exercises

input: node_a:[ P(hode_a), [node_b,node_c] ]

map out: [node_b, P(hode_a)/2]
[node_c, P(node_a)/2]
[node_a,[node_b,node c]]
reduce in:
node_x: [P(in1),...,P(in3)....[node_y,node_z]]

reduce out:
node_x: [sum(P(in1)...P(in3)),[node_y,node_z] ]




